[BEEH]

1. RHEREFNEOHME

RHBEREHEL, LNGELPGO# AT (B S#aHE) 0EEBIZEL T,
B . HEHSHEMO MbILYDEE) #HARTIHETT,

- EEE T RRHEE (83,350 ) LM R BHEIAE (3~54 ARTD34r AMDLNGELPGOHAffi%) DZ2E100M (ZDF,
1m#Hf=Y 0.081M (Fitk) AELET,

2. EYHBHAFERZEGIM/B)DCREDH K E (2022108184t 5)

(M FYERFHEEDOEE
<LNGEH# A ffitg > <LPGE 8 A ffitg >
110,680 (F/*.) X 0.9576 + 110,320 (A/%)  x 0.0466 = 111,128.080 (A/".)
= 111,130 (H/*".) XIOARBHEMEEREA

(2) FHREHEE SE 2 T[RRI SO E8E (RAMIEEEE OFE

<R > < BT FRMEE >
111,130 (/%) - 83,350 (H/*.) = 27,780 (MH/*.)
= 27,700 (/") X100 K HEELNET

() REHEHMAREOEE

<[RS L BI%E > <HEB=E>
27,700 (H/*.) X 0.081 (F4/m) + 100 (/") X (1 4+ o010) = 24.6807 (F/m)
= 2468 (H/m) NN R ESRLUTEYET

(4) it EME B (BA) DFEE (—RARFHBIR HERBDHE)

<HEBAHE> <ftEHSHmREE>
169.03 (4/m) + 2468 (F/m) = 193.71 (4/m)

(B &) 2022F9ARH N OREHSHEMEDLLE
<2022 10 A DREEH & B> <2029 DI EF S HE >
193.71 (/m) - 186.22 (3/m) = +7.49 (M/m)

(5) HR¥ S (202210 1Rt 5, FisA)

<EAHE> <fEEHSHIH> <ARERAE>
1,588.88 (1/A) + 19371 (A/m) X 31(m/A8) = 7,593.89 (M/A8)
= 7593 (H/8) XIARBELIET
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